EARAROBEEIERT — 2 N— IBISH —F

2014568220 (B) 3EIKR5H

m%iHiﬂiC 124 5% —f% \ (Xfg] B \ [REmshE]  — | & () 16000 B
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SRS Bia : 531 - (K3
1 6l T—FIWES1 #o7 57? 2 1.(4_4).7 3-3-1-1 | 40.6 1 (5_248) g%%%(*m
R:T7v3I7—L BRTI7=—F > EHAS
_ LIAHR % 45, -10-6-4 | 40.3| — BIfE— OR)
olalg| w735 i 8 L 1(465)6 10-10-6-4 | 40.3 6 (4+914) ]
R:Za—A>T95> K B:Axynhrs INT S
TRREIfE— : 01— — WEEEAE (B%E
318|109 FF/ATAIL "4 BB 1(.3%.)7 2-2-1-2 | 41.7 5 (fﬁ) %#5771: (
R:TA—T4F4F—XH%> B:3—K7O> b FRKBREB LS
- - Py . —6-5- - BIfE— (kiR
4 3| R1FTA—4 B 7 e 1;151:)7 6-6-5-4 | 40.8 7 <4+514) el
RA—Y XA x4 B:/—Tux051— R4is
s . RO — . 4-3- _ SHa=] 5
517] 7| FrFELELR o6 S%I_I(l)’(e 1.(415).9 4-4-3-3 | 41.6 2 (4;7) Qégié* R)
L:T7NTZT B:TI14 KT e FEise]
-, - e L7 EA 146. -9-8~ . — /INEREE (B&FE
6l1lq|F1=—%>54n H o7 s (12416/23) 9-9-8-6 | 41.1 4 (4_823) LS
RTTAFa =TT Bir4=— EAmtie
7 MNCOrANZ S 6 g!;*gﬂﬁ 1.?36).8 5-4-6-6 | 42.0| — 8 <4+923) iﬁgé (#R)
Ry TELAVF— B:42H/0UIy b Eitie]
N SAAKFRIE . 10— — 142 ARBRI (AKR)
8 o| ko= - o4 e 1(.;/(4.)0 8-7-10-8 | 41.7 3 <5+210) g
L:7L>FFE2T71 BivI-TN-2 FRBE%S
i # 4 | KIFE 1:47.6 7-7-8-10 | 42.4| — 9 397 | BB (KIR)
9|5|5|F78T147 53.0 @ 42) | (B J PN
R:7RKIfYL—> BEILT Vb BIE
6. & g N EBERRE :50. -1-4- . - HRE— (KR
10l7]8|/Yy>y—hrTEYR as 4 53.0 (;5,?% 11749 | 454 10 ‘zg? &mg%
LHIINIoF— BTFAT14T7FAN s
® 1—F—@EBIERL
1T=7r= 8,10,6,7,4,3,5,2,1,9
2a=5"= 8,10,6, (4,7),3,(2,5),1,9
== (6,10),7,8,3,(4,9),(1,5),2
40—F— 6,10,7,(3,9),(1,4),2,8,5
[ /N
B 6 190M 714K 6-9 530 e E 6-8 430 JEE 6-9-10 3,170/
B B 6 130H4 6-10 500M B = 6-9 1,190 JEE 6-9-10 8,750/
9 260M 9-10 1,480H B H 6-9 1,760M
10 200

ABICOVWTRDTEEERROODE. TR LIV,




